Al éebra 2B

Chapter 1 Review
NON-CALCULATOR Name V}P\ /

(except word problems)

Date Period

Name the property illustrated
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Word Bank
Commutative Property of Add  Associative Property of Mult. Inverse Property of Add
Commutative Property of Mult.  Identity Property of Add Inverse Property of Mult.
Associative Property of Add Identity Property of Mult. Distributive Property
Simplify using order of operations
10. 15— 6(-2 +3 *—6) 11.  3(12+6—-4) 12. ‘51_3—;"f
(5-(p(-2 -1& 2 ( , T\ °-2-
(._D(fi 33 _)k/_)_-_plr\ TR
|5 fgf‘--go\ % X _: W
IS +120 e _\} -19-1 S [
F_STE‘;‘ 2(-5 /
= 7
eal
2 2 213 11 22
13, 37 +(=3) 14. 9+[4-(10-9)] 15. 17 +3 1—1—+8 +5
(N2 (3 Ve - '\j | & 3ff2ae )5S |
Ny ¢ Grly-i L
R [L/ _[ | 45['10"-%*‘\'

% 94 (3 e
E:j 4423 ,{Lg;z)
£ i



Algebra 2B
Chapter 1 Review

16.  Write the numbers in ascending order: %m%, % &% %
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17.  Graph 0,2,—1, 32, —21 on the number line. Each tick mark is an integer.
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Determine which set of numbers (Natural, Whole, Integers, Rational, Irrational) that each number

belongs to. (N, W, Z, Q0,])
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Evaluate each expression for a =-3, b= 2, and c =—1. IMPOSSIBLE -~ H=-X ﬁ Y= ‘
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Solve.
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Jane’s cell phone plan is $40 per month plus $.15 per minute for each minute over 200 minutes
of call time. IfJane’s cell phone bill is $58.00, for how many total minutes did Jane have for

her last bill? . 3 = Mot W R Minte S
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Adult tickets to the movies are $9.50 and student tickets are $8.00. If there were 75 more adult
tickets than students and total receipts were $2,900, how many adult tickets were sold?

T cha b W :
“"Ojfo*-\ Ceh o« fg\ch_Q X g(’s w s 4 é.f(\,éz i % é’:\_A(IUl S

Sqon = @050+ 5 ()

25?(00 = 742\6 + 9.90% +8%
= 2125 + |1 F 50
205 - arz 5 W HRES,

5 |€%.& = 17 5% [26=~ = 125 #3570



« Algebra 2B

Chapter 1 Review

PN

). Marty’s age is 7 less than twice Pat’s age. The sum of their ages is 80. Find their ages.
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Answers:
1. Comm x 23. x>17
2. Assoc + 24. 4<y<24
3. Identity x 25. x>-2
4. Inverse + 26. Real #’s
5. Distributive 27. x<5o0rx=>11
6. Comm + 28. O
7. Identity + 29. 4<a<0
8. Assoc x 30. p<—2o0rp=>3
9. Inverse x 31. Real #’s
). 135 32. {0, 5}
11. 24 33. {7}
12. -2 34, {4}
13. 18 35. 11
14. 36 36. 8
15. 7 37. 9x+ 38
5 3 2 1 2 38. {5}
o =3273%3 39. {2}
17. 40, h= SA-2B
———t-o————o——o—— 27
5 4 3 .2 -1 [} 1 2 3 4 5
4. m=hw—-k
2 2
18 1 42. z=5—y:xSi or Z=§(y_;x_)
19. Q 43. 320 minutes
20. N,W,Z,Q 44. 200 adult tickets
21. @ 45. Pat 29, Marty 51
22. x> 6






